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1

REVISION TOPIC:- TRIAL AND IMPROVEMENT

Calculators allowed.

Solve the following equations to 1 decimal place by using trial and improvement.

a)  x2+x=200.

x x2+x

14 U2+ = 210 Bi

(3 3*+13 - [82 5 .

3.8 | 3&H3S =195 Saadl
~wrp||LmI®|||mum ||||| .rmDJ.QF

3.7 2010 2 9 B X
(3¢5 1199 .97 5 Fé

Answer:  x = _u.q ......... (to 1 decimal place).

b)  x*+5x=105.

x>+ 5x

I-%5x9 =120 m

KR=ESEXR = O ,w
Sm 24 Ria \2@1@
}A5 _“Erou L. W“ *

Answer; X =

...... AWO (to 1 decimal place).

2) A solution of the equation x*+2x =43 lies between x =3 and x = 4.

Find an approximate solution to 1 decimal place.

%+Nx

3.5°t2x3.56 -49 875 m/u

&.n oY Big

mF

Answer:  x = r\u. o u ........... (to 1 decimal place).

3) A solution of the equation x* —2x— 12 =0 lies between x =2 and x = 3.

Use the method of trial and improvement to find this solution correct to one decimal

place.
¥ —2x-12
1.5 B u% -Bp mipl —1-315 Small .
@ Z03776 B
SRRt ma
@m\ﬁHtQ? Y Q3 Lz & b o
Answer: x = pmu ............ (to 1 decimal place).



